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Inquestion: sel bilingusly ia uish aned Tlindi, moane al disarepancy,
Nee Englich version well poevail,

AT queslives areromey WSy end Sorrv egual masks,

The pugecr eareies singaitoy st B.25 trarks wqll be deducted P cach
WP AR,

Befnre you star! o answe- the questions v imast shedk up this
Rackl2tand crvere thatit contains ol the Poges (A=22) and wee thatng
Tage iy missing or repeated. i you Fined any defect in this Koekler,
¥ wmast el L roplaced thamedie ey,

You will be supplisd the Answe e Sheot Sepasately by the Invigdlatr,
Yo s complebe s code the detiis of Maunse, Rl Ningnber, Ticke?
Nianber and fost Foven Navtler of the Aryrer Shes) sarefulle, You
mussalsa Pk your sigosneme end Lefed Tad Sl Eparessins un the
Anawer-Sheet atfl [resceibe? place befom Fouartialiyslert answering
thequestions. [hose petmphens ciast ba ) iy oorof] wish, lailing
which, your Answor-Sheot will nok o rrvuased and vou will be
avarded LR madk, (VI Carebrad Falsy condidalas will be have
te cncure that these duebails are £illed dn Ly the sevibe, TToweser 417
VH/<erebral Taley candidafes must put toetr Left-Fland thamb
Impreseion ot the space pravided in ihe Answer-Sheel, Those
VH /L erebral Palag candidates wha can eign should alao por their
signalures in addiiion te thuink impreseioal)

ADSWES st b kol Gy complutely Rlackening i corrnspalcling
wials an Shile-l] of -ive Answeor-Shoor agalpt the relavant qLeestion
nureber o Black fhie Bull-Poing Fen {nly. Answers which aze pot
shown 1y Black, Bl Bal-Foinl Pen wil nod b awarded sy mark
A tnuachne will sesd the o bacd fnfocms lon i e OME Saswer Theet,
Incaze the ivfor malio is dveomplete ar JiFeven i o e wfrmation
givenin thes ppliceticn foy suchvandidate veill be atwarded ZERLY
sk,

The Answer Sheel st be brided over f the Tovigilatog Tefore i
leave the Bxamination all,

- Failure v cemply with any of Fre above fustretions will renyer a

candidaie liable v axch actian reraliy as may be deemed G1

b Tlhemanner in whick Hye aii.*termtquebﬁuﬂs Are by he aogooroed bas

Tweer eepliined al the back of this Donklet [Pelme o, 28}, which you
shuncld read eazeduly b e actialy answerhuyg the Jnuestivns,
Answer T gues!ings as kDY yand as carchilly 25 oo ran. Some
questions oy e Liffirull and Gtheis casv. Dot spend loo omack
tine saany qraston,

- i of Question Nus. 39 40 50 and 144 ta 550 relating 'o fenral
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VH; Crerebeal Pelay randidates A,

- Mo rongh work i3 to be done on e Answer-Shuet, Space for rough

work has been provided belm (hs quastiony.
"Mobile phones and wireless commizmication devices ure

e comply with Lhis.

exavaituition al action will be Fakes aguinist then meliding

- completely Banned in the exaniization hallsfroons. i
Landidates are ardvisod not to keep nabile phones/eay ather |
wireless comimtisialion devices with Them eoen sesktelting it |
Lo offin their owan intevest. Tailing i
- pruvisiont will be considered as UstRg wifad ineons. in the {0
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PART -

Directions: In question numbers 1 3, select the missing
mimber fromn Lhe given respenses.
fader : T . 18 59, fom e faeedd F W W 3 I

FHITHE |

Lol e 4] 3437
3 135 ¢ 1 5l2p
}_ 27 h 64 2 7
EE A1 1573
] 715 720 Q) %40 (i) 573
5 R
/( 5
H22 7101
(%) 26 (W 25 Q 23 D) 27
3 ‘ 115 2|83 32] dnier+&
5 |51 g%l 24
Fls a7
[2 o[ |12]>
) 60 (B B — (G 120 (D) 27
. i B
/ul 12N /1 _\m
= L 78— —Q b —1
i i / | >y
%’g "\\ﬁ J = y 53
@B w9 QFTen? D) 74
7
5 2 3 gL {ﬁ_
4 5 1w o
6 7 12 7
32 50 7
(A) 128 (B 92 © 30 By 200

6.  Raju drives 25 km North and turns left and travels
Skmandreaches point 'O, He then turns :EghL and
cavers another 3 km. Afterwards s to Lastand
drives 3 km. How muoch distance e has to travel to
o hack 1o (he starting point 7

Tﬁfza‘%a‘r =R fam § =em ¥ R 90 4EF 5
T e ol oy g Woge s E 1 TR e ey
W:ET = &1 = Aw Ae yd T A
e 5 o . HFTE | TR TR Ty T & T
13 § 5 TR 53 79 0 B

(A) 25 leon /T8 H. s 13730 km /TR

(O 35 ken/ TR ) 20k AL

A/ W -
GENERAL INTELLIGINCE & REASONING [/ HH @f‘@wﬁv E T Waﬁ

R il

__/
4‘ 1A

"'l

O LA AT LB

|.m- -

7. Kailash walks 3 ki to Hast and s Seolh and I
walks 4 km. Again hrens West and walks 5 ko
Hewe far is he trom the starting point? ;
St 3 fraf, g Tewn F wwar i el gt sl
4t Tom S TR s o=t 6 TR . ?ﬁ'r?ﬂ i
77 W e B T g E?

WAy ke THAL (1) 6k, TR0

() 7k /PR D) 3kan/fRAL

P3irections : In qu estion numbers & and 9, one or tv-,o
statements are given followed by two cenclusions/ ;
Asswnplions, Tand 1T, You have to consider the statement
to be trie, even if it seems to be at variance fromcom unonlv |
known facts. You are to decide which of the given, |

.
conchisions fasstmptions can definitely be drawn ﬁ‘nm
the given statement. Indicate your answer.

39 ; Wy 9. 8 40 9, 7o B s Ry E hm?s
Tt 2 P/ T, 1A I P T E ) s PR
1 & o T e ¥ R A AW W A & el
THT BRI A AT Foim e &, T few g ey 0 @
P ST = 4 e e e e R R
T I G TAfEeE IR 1
8. Statement: :
The crop condition continues to be critical even after
the rains.
Conclusions:
M) Thecrop condition was not critical before rains:
() The crop condition was expected to improv ¢ |
alter the rains.
LAY T only (1T} is implicit
(13 Ifboth (B and ({1 are implicit
(Cy T ncither {) nor {IT} is implicit
{3 Ifonly (I} is Implicit

BT ;
ATl B & g wEE ) il A g e ]
frems :

(U A vEd A R AeE T A

{5} wwﬁﬁaﬁ?faaa%Wﬁﬂmvﬁqﬁmﬂa‘f
ol

(A) e Frerd (1) TR

B T (1) SR (T ST HET )

@) Afmed @ e e EE R j

@) Faa T (Uil §
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AT T e e
{0 ,?(t o iﬁi,

Y
L X ‘_:,(L'_‘_
4, Statemonts: - 15, Which ome sebof lotters whionm seguentially laced at
(1) Some Politiclans are Social Worlers. the gaps in the piven leiter series shall complata i17
(2} AdDaclors are Social Workers. Tt T siEE-SEE R W e W W W
Conglaelons; e PreTtafes 4 % T m oer TEy 98 9 A
::i} gomegol_j'.nlw’i?Eltnhtmal?;. r- ; BE g_ B NT RO T
S0 Al VY orkCors ore {ACENS an Wil a5 e T TS
Politicians. () OWow gl
(A} Only conclusion (1] follows (O WX Dy OWEW
{1 Toth conclusions {I) and (1) fullow 14, ['-"megans” -, "='means "x’, "%’ means” @’
Al ~felither conclusion (i) nor (TE) foflows and "=’ means *+7. Which combinaliont will pive
(1% Onlv conchasion {1) lollows wour the value of 07 in42 4+ 12+ 20+ 0
CREE Gl IO E IR AR HE LR A L
(1) S TR, A s R LA TR AR KR R el R
(2 =it Fafemme, st wwal € FT-HT HAT= AR ‘O T W &
ﬁ%—é . {ﬁ"'.} oM - (B} [ Lo
e o = »o— -+ D = 4+ — =
) FT riceemd, Mo &l © ‘f_.a{,_ s
{]I:l Y] H|H”’:ﬂ¢h ‘?rl"-]‘;h'\'li, f—qr TP | J\Iq.i‘l‘l—ﬁ_{_la:ﬁ 15, in a certain Iaﬂguage II_ZA“STHQN is coded as
- FOLHS AN, How s FROBLEM coded in that code 7
‘) ot s e ;
_ - o7 W hiG g FASHION =l FOIHSAN
Ay =herm Tt (1) Fenem 2 . N 3 - .=
A= i o D Toret @ © 9 T FIE A PROBLOMF FH famm
By Frssed gy e () S e 1 S = e
- . e v % /
[ T r—rEFa‘ F(I] 7 fr Wﬂa‘ﬁf (g Fraar & (AFTELBORM (B) PRECELM
() =3 Freesd (0 Freeran €1 €y RPBOELM ) ROBTEMP
. ﬂli" % S
14 Selet fmm thea[teﬂ‘nati?e%.?ﬂ_ a]_‘JpTGpTI'al'E lermne that 16. In a cerlaln rode ’C :‘JI_&H’ 15 wriien as
Is idenical to the teon ACEC, "RGAINITS”. How will“GENIOUS" be writien in
o 10 e O T ST W IR S R ACEG S that code ? NG E
EERIEE TRl I H G ARNISH ®T 7RG AINHS frar=m
(A) TTM CONETTOUSU # SHi wE T “GENIQUS” i Y fart oI ?
() GHIM () BDLF VAT INGHOISL (15 NEGIOUS
Diractions : In question numbers. 17 and 12, arrange the () GENCLSU (D) ENCOILS
follgwing words ag perorder in the dictionary. P17 TFRQVIEiswritten as VIORF then DARE is writlen
T2y : wo= Wem 11 A 12 7, Fretafes v=f = vewm as _ '
F R A HR TR o o 5 = ROME I MORE T =6 § 61 DARE % #70
1. (1) Censume {2) Consciousness ey s ? '
E%; (C_'Unﬁtjg}cu ! ) Conservation Ay RATIR (B) RAFD
5] (Consequence ¥ () RDEA M RMAR
(A 3.5,2,4,1 By 3,1,2,51 (). ROEA () RDAL
0 2,2,154 WIN-3,2,5, 4.1 18.  After interchanging + and —, 8 and 7, which one of
B ] B the following becames correct ?
12, i1y Convinee (M Converge i o= - : S 77 =ty &
E - e 3 . il L= = I— ]
(3} Convendence (d) Convalesce j ol L 56“—{ 7 L!{H‘ UHEe q i lel-Ed
(5) Corverse b TR A o o,
(A) 1,4,3.2.5 B 43,215 () Bx2+7-6=9 (B) TxB+6-9=05
] L I - o T Y . T
{3 42531 U_P)’"‘I" 3,251 (18] _I':; ::;-IL%X5 33 1) 6: {i}{', éqgr/
1 '1“ . l 'i‘
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DrivecHons : Inguestion nnmhers 1%t 21 a series s giverl
withione/ e turns mssing. Choose the correct alternative
from the given ones that will complete (he series.
Py wm o 193 01 F, U A s, TR ahyd
el S AN CE RN R g [l o o lwﬁ?‘r
HH ) LT U
. 36 “4,'3:0 28,24, ___?

T gt B} 2

£y o

20,  FAK, IEM, LIO._2 [

Nt MG B MOF

£ MO N O

) 2 Oy 20

21, 35,33 '_Ip_ 12,35, 2., 2 .

,A} 1%, B) 17, 195~

< 1n ’E-i @) 22,35
INrections ; In guestion numbers 22 10 27, setect the related
word fletters/ number from the given alternaiives.
Fohyr ;WO R 22 1 27 0 A el & 4wl ey
s yEsiea AR AT

e

2. DIHEPWUESQ:HJEM: 7

ArREVX (B} TWYZ
cy PRI Oy SO0V A
R L 16 9
(A) 16 M 40 (s m o
24, JOKR:GUHB: RISk 2 w3 7 1e
() BT, i) QIIR]
{3 OFPLT T3 TTVN
23 41707 2
(A) 4% B30 () 51 M) 48

26,  Kidneys: Nephvomn:: Central NepvousSystem: 7
(A} Spinal Cord (B} Cerebruim
() Weuwrons M Brain
IR L L N A I E £ 2 I E R

(a) AETH (B} THRA=R
oy Oy wh
Insects : Entomology : :Gnakes: _2
(A Ophiology (B Agrology
{0 Celology ) Myeolngy
T RIEHAA W

Ay~ AT (By P9 A
3 = T (D = T

I
|

i
<
H
4
s

DHractions : o queshnn mumbers 28 £ 32, (ind the: {m
nurnber/ lerters/ Tuamber padr from tha given altemfmv@é

Frevr ¢ yes e 28 8 s H, i M faeme T‘cmg
?,:i T/ e e A T :
(28 (3 31 ;n T 44-31
R E I (0,25~ 21
1 oA
29, (A) KM (BY Eef
G STR (L) ONP
. (4) Kdnap (I Kill
(L) Assassinate (i) Muorder
WAy ST (B) HY
() BN (D) e
3. (A) 326 (B) 3B& (O 428 ) 33
32, {A) Brisiol (B} Ceneva
{C) Zurich {3 Terene
(&) Fm ) S
) s oy &

Directioms : In guestion numbers 33 to 35 from the givd
altermative words, seloct the words which cannot be formid
using the letters of the given word.

by - Uy deEm 339 35 1, Frefetiad fawed 7 3 5
1 T = T I e o ST R TR Sk AR T
TR S|

33, INCONVENIENCE

(&) CONVINE (B) CONVINCE
{0). EONSCLENCE D) CONCEIVE
34.  DISTRIBUTION
(Mmlqllom {B) TIITION |
(C) TRUST M) DISTURE [5'
35. ‘SUPRRINTONDIENT” :
A LAy TXOCTOR (B) NURSE
©) INTENSE i} DFNTIST

[l

Y

There are deer and peacocks ina zoo. By counti
heads they are 8t "The numbur of their legs is 20
How many peacocks are there ?

W SR fea o A E S T w80
Wm[_}ﬁwzoﬂf| T‘lﬂ|m%j
(az:}i/"o
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Ctav e

37, Sixmemberaofafamily namely A, B, C, T, F, Fare
iraveling togother. Bis the som of C bt C s not the
mother of 3. A and {Care married couple Bis the
Lrotheral O 12 is the daoghter of A, T is the hrother
of B. How many male members are Lhere in the
tarmily ?

T ST & 38 081 A, 13, C, D, B, T U5 Y 5 7
T RD B CW T R OB W e R
A #RClamfsn safa §1F cm R E | D AT
YA R R B aE ) TER H TR e e §

@3 & B 2ox (01 AT
i'_'«!__._.h !T% Fn;\-
- _fil* - d

38, Ann, Biil and Ken shared some stamps in the raljo
2:3:4. Aftera game, the ratichecame 5: 202 If Ann
won 21 stamps, how many did ken lose ?

T, e AR HA A 20304 % aruw | 5 fewd
IR fean | e aGe o WIS AN 502 20 AT B

=

T 3 21 Toopd S = 3R TEe fowd and ¢

WU B OB O
=2 ;—_ﬂﬁ_‘_‘g p¥e ? o, As
T Tia gy -
9 T
39.  Selerliheanswer ligure in which the question figure
is hidden.

Tt 3 Tl F = i S v e g
EERS
-:‘(

{uestion figure, T8 STR5T

|

20, if a mdrror is placed on the line MN, then whick al
the answer figures is the right image of the given
ligure?

TG Wk BV R MV T 9T TET I A A M T
ST R W ER -’ R v e i wE il
=it 7

Que*JDn ficrm /W wf'— Vu_-ﬂ;

R __q . iy J
. /1 'i\\ I' \ |
? " , .I L '.,\!

i_

S e e

Directions : A word is represemied by only one sel of
niunbers as given in any one of the alternatives. ‘I'hesets of
numbers ghven in the alternatives are represented by two
classes of alphabels as in two matrices given below. The
calumns and rows of Matrix T are nurmbered [rom 0 to 4
und that of Matrix [T are mumbered rom 510 9. A lotker fromm
these matrices cant be reprosented first by its row and next
by its column, eg., "A" can be repiresenled by 03, 10 cte.,
und T can e reprezented by 38, 85 ofc. Similarly, vour
have o idenlify Lhe set {or the word “BRAK',
ToreT « o T A Um AR G w0, S
Toh faptlil H | Tl wop 0 Tgmr e # ) fepes o fem
; --m@'amﬁﬁ?‘e‘fa'm“mm’ T4 ¥, S T
g e =1 e ) oTeE 1T me ot ThE w5 v
0F 17 %17 ¥ 3 AR IIT 55 9 37 eyl | w 8%
B TP O i e it T
TR | FET S T < AT 03, 10 37T ZRT SO A e
LY I 58, 65wl SR S9N wE F O e f

i AR T H o v BEAK & Ty 098 i veEirH £ |

: 41. .\"Ial.'l'leaﬂﬁlﬁl-l E'Iahjxfw 1
S— TTel1]20s7 5[e 7[8]y]
. o s olcts|O[A|T. [ |[R|LIE|D:L
.-'—'&ﬂ.‘al‘u'(—‘.'l'h%‘Lll'E'.S,f I A Al 1Al T slo] [E]o]L[RIF[&K
slelolalT|C TIR|K|D LR

s Tlc e|ola] '« ILTRIE]JE]D

4. 0°A Tlclp] 9 K|D[L|R[E

() 22 Tawrs 22 T 20 1087 57

) A4 #4100 75 W47 75 22 88

et 2 ¥} i’f
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42,

I a paper is folded in a particular manner and a

punch is made, when anfelded this papuer appears
as given below in the guestion figuee, Find oul the
+ manner inwhich the paper is folded and the punch

s made (rom the answer tigures given.

=ifa Selt A #1 Ues o iy B dees vE R
FeR o] T, Tt e T € et 1A 5 TE U ARl
S [TER 3 ) =M T AEE W ame

Wr

Cruestion figure, T3 STl

| '.L,‘

"‘“qu |

Answer figures/ S STEHRTET

| * =

-

43,

®

Yo

If a paper ts folded as shown inthe figuee to form a

cube then the pairs of opposiie taces ate

+ Gl+]
iy
—and + +and05[+and£‘.§ Hoapd O
HSand | V+and O ‘ <+ and OV | 4 and +
Jand & Mand O i Crand J) | Dand (O
m ™ @ o

Wty WA S o feg ST T Sy A w S H
HigT ST AT ST HHA Eels! o 2 4 g 2

N
.

+[0j=+]

|0

G ER | |+ 3RO I'—_-ﬁtﬂa;
AFRD| |+ Ol #R 0
OafRo| Ao Rz
IEY (1) )

ﬁ

Diirections : I quesidon numbeis 44 and 45, among
[our answer figures which cun be formed fram fhe cot
pirces given in gueston figure,

Fraer 0¥, 44 343 Pl 2 S0 ZHal 3 I 4T

a

e S T

i

3 o ;
T -t AT = 5 wEd :
34.  Cuostion [igure, 53 ST E
) 5
Ny 1 |
b/ )
Answer ﬁ%ures JaGER! W’I‘?PTT
-~ : -: L b .
’f//\ ; \\W/{f \\.\ 7 \\/H;,"
| i I\/ V
CET TET O DJ;
35,  Question figure, W 6T

e

Answer [ignres/ FaL ATl A %

S|~ o [
: . _‘__ . \\._\__:_IL‘"J’ \‘\.______‘ \\. A
A m 0 (D}

Directions : In question numbers 46 Lo 48, identify
dagram that best represemts the relationship ameng cla
given bolow
Frvr : W HET 46 48 §, Fw s L S A T
=i & =i A w1 W T o

46.  Tigers, Lions, Animals ? i
N OO A
| O )| I (_) O.-"! o |
N \\_‘ A @ ;

Y S (& '

4’:’{.:" Profussors, Researchers, Scientists 7

. JrnHT, TR, HaE 2
=N | 2T @
(r’j\ ) ( YO }(’6\%)
| \-_ N ] . I
| N Y
™ NS SN
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Jag
Lt

T

i

A L b, o et e T

48, Langusaes, English and Kennada ?

N
()C‘Q {oNe) NiEEp)
N N
)

x«"\

¥
\_A_P'i/

Directiona: Inquestion nambers % and H), which answer
figure will complele ihe paitern in the question figure ?

fdn ; weT WA 49 3R 50 W, wIA-Hi I ST Wi
R & WiaEd @l W s ?

49, Question figure/ T8 AR

:/ - f\"'\-\\
F M- |

f‘mswel he,uremf a1 dﬁ% El ET

i | A
Lohf '.l'\
f ; e i
) AWAYE

B 1-"‘.. R
¥ S o

3

Gl [heatmn figure /T3 Rl

; : , . : xxxxxxxx
I i
______ | Y
() () Ne% D)

39.

41,

Select the relaled word [rom among the given
alternatives.

o g Tl # © AT 3 T i |
EMIT : TIME - - EDIT - ?

{A) DIET (8] HIDE

{C) DATE (D) TIDE

The average age of 7 employess in a departnent is
40 years, One menber of 50 yoors secks voluntury
retirement and a new cmployee of 27 years joins.
What is the average age in the department now ?

et Fepwrmt | 7 wef=ied] w1 sliga 2ng 40 m‘f 2
55 =% i U 9T Tiesw du1 WA o e § dﬁ?
27 W T W T FHE 2O A E A, a7E AR |
st airg fagal B2

) 36

© 38 D 35

K and Y7 start walking in the opposite directions
from the starting point and oovors 4 s cach.
There after 7X' tums left and walks for 3 miles and
Y hirns leftand walks 3 miles. Whatis the distance
bt con thiem now.

w HR Y yRigE 2 g fadln famed § wen
TG w AT TEE 4T W G0 9 B AT | SRR
SIE XA YEHT 3 el HERE HW Y A g
3 T # | 0T T 99 TR g %

(A} 16 miles/ it {B) 10 miles/=Ter

() 14 miles/ el {0 8 miles/Hie

SPACTE TOR ROUGIH WORK / TF ®Td % o9 77
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o "ﬁ‘rowzuds North ﬁifeéh’nns : In question numbers 47 and 43, sefeg
*tandrunS km | missing number from the glven responses,
mi{ﬂ@?}ﬁ‘“ ﬁ‘éﬁ:%ﬂ@n@@ﬂgﬁ%@ﬂﬁﬁﬁﬁﬁ@;

> o
1us U_TID ETL—'[ - ﬁﬁ )

| 42 - : If paper .i.s"f.'old«_:
punch is made, g
as given below i

manner in wh wer the
is made from * 47,
o 2
AT TR Y, 7 fﬁ?\
fq’—r-]-i. 7 mf 5 ; \)// 9 7
S frwp s @ y \{
= £ R?S % L &H 3T N /_\ :
Wy 2 471 = T 12t ) /25

a v

A) 157 92
r «n which direction wil] ((C)) 1;9 ' EEB)}) 208
(B} North 45, 12 l 9 P ‘
& o |IE Y H fowy F E 0 0 | 3 0|
A (B) T L6 | 11 | 7 ]
i ©) o @Ws B3 07 o

<tens : In question numbers 43 and 44 find the odd

anber/word from the given alternatives, 49.  Inacertain code, the following numbers are cid

FRE9T : W97 Tom 43 9 44 7 fr g Tempedl 7 9 fimg 1 certain way by assigning signs -
o R A ' - T - 4+ v A x ¥
12 3 45 ¢ 7 3
43. éﬁ) ‘5;"0;?’8/ 45,21 B s Which number can be decuded from the followin}
) 1 Ny
Q 21 D) 63 %t ﬁ
Tt i H Mefafae wems v @
44 {A) Woodruff (B) Wood pecker frf @ e s, e
{C) Wood pigeon 0} Woodcock i AT R
(&) TS (B) m - T - 4 VoA ox o
() ST e D) Tear Y25 45 6 7 3
: . , MfafET % fFe den w et fea o
45, Find the missing number of the series. 39
RICEIC i vt ol T “ R
Xv — |+

121,169, 289, 361,529, _ 7 o _
A) 625 (B) 576  (O) 841 ©) 961 (A) 52,374 (B) 7,5.3,24
{© 37,542 D) 4,2,5,57

46.  Which one set of letters when sequentially placed at
the gaps inthe given letter series shallcompleteit? | 55,  na code CORNER is written as GSVRTY. How ¢

TR 1 S -8 A8 @edt o R R s f CENTRAL s written in that code ?
E T S BT 7 ¥ e & CORNER ! GSVRTY e s ¢
aa_abbb_ccced ddece_ bl ba FITH CENTRAL F1 S feran ST 7
(A) abudbe (B) abdcb (A) GIRXVEP (B) GIRYVEP
(Q abcad ©) abcda (©) GNIJKER ) DFOUSEM

SPACE FOR ROUGH WORK / T% &7d % forit g

“HTTP://SSCHELP.IN | http://Gksea.cof




LA e S i e
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H

3

51

5.

53.

54,

PART - B / WD - 9
CENFRAL AWARENESS / TIHMI ST

Which opne of the {ollowing refers ta the white satt
which covers the lund in some areas during dry
SCASGN 7

(A} en (1% 1sar ] reh LY myg
ety 3 F T doy v T 4 T W 0=
v o S T A W ST R e L e d 7
WAt W o@QF oW

Addiden of excessive amouants of heat ina lake Is
referred Lo as:

{4} GreenHousektiect  (B) Thermal pollation
{C) Refrigerationcfiect  {I) keat bloom

%7

[S38

{4 i R TR {B) TH T
{Cy WA JHE {17) ST A

Which ome of the {ollowing is the infective atage of
the matarial parasite ?

(&) trophozmte {B) spuroblast

{O) schizozoite F (D) sporozoite

Elte Reeieile I o 1o 1 cen A i e e LR Erel
HeRIT & ?

(B) TR

¢, (D) BRI
From the national poinl of view, which of the
Tollowing indicutes Micro Approach ?

(&) Perrcapita income in India

B Inflaton in India
(O Study of sales of TISC0
@ LCducated unemploymentin India
ey it |, Fetataa § | e giewm
Bt n) i

) g o ufd =fam s
(B e W v
() Tt =1 fimt =7 areaga
() wA o Tie alsmrd
Jaspal Kana is the name associated with which of
the following games ?

{A) Shooting (B} Archery
() Weightlitting [ Boxing
YA T SR f O B W A TR § 7

(A} T (B <=l
(SO (D TEmers

G]-201a/ Pagel

A

o

57.

26B.

oG,

The purpuse of cheke in a fhrorescent laing s
(&) toincrease the cuurent fow
0% to decrease the vollage momentarily
() todecrease the resisiance
(L} 1o decreass the currend low
e BT 7 i T g
(A} TE T HRE G
{B) TET I AV HH HE
(Cy ERRITHA 3l S 4 &l
(D) =2 YA ] R B
Catalyticconveriers are g{—mpmllv made From
(Al Hydrogen (# Carbon

"} Tmnbii:iun metkals {L7) Alkaline metals
AT Tl T TR s e € 7
(AY TTgEieT {B) FEA
(©) i [©) & g
What according e cornmunism is the chief enemy
of the society ?
(v Religion (B) Surphas value
() Private property (1) Capitalist class
HIETTE ¥ STHR THE T 5T S 1

Ay A (B) =i

{3 i vty (D) gerEmEr w4
The remedies to soil erosionare
(@ Caontour bunding
() Regulation of land use
{c) Lutting uf trees

(d} Allowing gmmlg U.[' arlmals
W‘!q%Fimm T E :
() THESA B #1 PR
(ty g-ITEe = T
(@) g B HE
() wsf = W g T
Ay (&), (o) (B bhic)
© (@ (@ DV @), ) %
The apparent weight of & nan in a L is less than

the real weight w hen

() the lill 15 going diwn with anacecleration
(B} thelittis going up with unifirm spueed

(C} theliftis g[‘-lﬂg dover with noiform s W
(L the litt is going up with an aceeleration

fore & TS 61 W i SRS T § B9 HE
R AR S AR R 2

(B) el (AR M TG § ST WA

¢} w T weE i W = A

{1y W TATE 9 T T S TRl E

HTTP://SSCHELP.IN | http://GKsea.com
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&l

HZ,

63,

o4

65,

bh.

Wian Booker Prize [ov 2041 swwas wwarded Lo
(&) Apmita Priant (B) Shashi tharoor
i) Lech walesa (T Richard Flanagan
5014 gy T AHT TR B R ] T
(A) H AR (B} wA UE
Q) T E D) T RArH
Meovement of people fromavillage o a sl kowa
and later 1o a city is known as

W& indra-Atate migraiion
{B) inter-slale migration
((} step-wise ndgration
(D) forced migration . R
it < e e S g T IR G i & S
Fed 8 ?
(Ay 3fU-Tea 7elg (B) FeRpY TaTd
() TR VA (M) T WA
Tleadquarters of European Union (G} is situated

.

(Ay Paris (France)

}B} Milan (Ttalv)

(3 Murdch (Germany]

(D} Prussels (Belgium]
{fﬁ%ﬁﬂm@wﬁfﬁ%%?

a7 T (R ® fam (get)
& = (D D) wEe (At

When income increases, consiwmption also {

increases |

(&) inlhe same pro poviion

(B) inalosver proportion

(3 imahigher proporion

(M noneoftheabave _

S 3% gt & @ o ferd e A 7 Sl w2
Loy e TIE S (15) A

() ST AT @y =T H 3 e T
What is Amnesty International 7

(A} An Environmenl Frotection Oreanisation
M ATPeace Moverment

(C) AnAnimal Rights Proteclion Qrganisation
() Alluman Rights Crganisation '
THE derel G ?

(&) TtETT HR EEA

SRR R

(C) W] TR TR S

(D) WEETHEERD HIT=H

Rotation of creps is cssential

(4) Fordecreasing the quantity uf proteins

{B) Foryetiing different kinds vf crops

K Forincreasing foriility of the sl

() Far increasing the quantity of minerals
wEEl ) s T AR R

(A) T 1 AE T A

(@ faie=i TFR | T o

Yoy T R FAT  TE 5

(D) @] T R -

(f-2015/ Pagell
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68,

0.

1.

‘.
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oDy AT ECE]

. Which one ol the following is an indigenously built ;

The autnor of the ook " Zesl for lile™ 5

(a) TG walls (B} Emile Zola
() Hask Twain D) Virginia Wolf
() Q&S 3T my i e
(€) FB T an FRIE IOR

Which of the following isnoteorrect aboul Mabatma

Gandh ¢

(4) Candhi advocated complele separation of \

politics from religion
(1) Gandhibelievedinne a-violence
{C) Candhibelieved in the sanchity of Theans

) Candhi supported close rejation bolween %

relizton and politics i

rape T 3 AR A Fretatea B T HE 5 é

(A) !
AHTEAT T |

(g Wi i F e 7 &l g1 ,

¢y Tt T = Al R T4 21 ]

ol Tt = ol T T

JOs= TR '

3

el 3 T e R A S T

3

1
§
!

light combat alrcraft ol India ?
(A) Vilkrant By Tejas

() Arjun (T} Akash i
i B B wiH-T1 T s e ERCE .
s fom & a
(A feete (@) T
(O ¥ ()T

Tn the case of deadlock between the two hoses of 3
the parilanent, the joint 5itting is presided over by

the - i

\Ay Spuaker of Lok Sabba ]
(B} Vice P'resident

() Thesenior most member of Lok Sabha
(D) [President

wime W o T o ey 7 e e
SR o aTenuld i Bl E

() T THI ST () 39U
@) AT S FeTH HEE (L) Tafd

The Thirteenth P'ravasi Biiartiva lMwvas was held on]
Bt and o' Jan 20015 at : ’ '
(4) CGandhinagar (% Indore

{Cy Bangalurn (D} Mew Delhi
& afm o e, 2005 Aewdt 7ol Wodid feE G
fan e T I

1

(A} MR B s
(@ AT @) T =i




72, Matclvdhe lallowing 76, Malch the following lists end setect the correct

i i answerirom codes glven bolow:
S - D List] TistT]
(@) Chlorephyll l:l) ]j-“];ml_ (Immht: ) Crops Firstinthe World
ity Nageow (1) Photosyruthelic pigmeni (@ Rire i) Brazil
() Transpirakion  (iii) Diazotroph ) Muize {iify Wlalaysia
id} Rustolwheat  ({iv) Lossof water [rom plan (¢} [Rubber {u) China _
suTface () Sugarcane {iv) T5A i
frestEd =7 AN S fp=leras w1t = FSE @01 oy 1% Tl ?
I - Tl ideheT g5 ;
) . _ . wfereRT 1 GHIGC AR
(&) Ffﬂ?ﬂ’ihﬁ {iy "TI?':TFI } e St
E) TEF (i) TR Tl e ju) = R IEIE]
() AT (i) ETEUAITE (SREE fi5) HelfeHEl o
(@) T % frg (iv) e wAE B A A A © =T (i) =11 N
@ M @ @ (@) T fiv) TEE T TR I
(A (i) () (@) 00 o} () &) |
G ) (A (1) vy {d) {)
& ) ) @ O
Q) (w) () Gy (i) (€ M (i) )
O G G G 0 (DA () fiv) (i

77.  In a Database Management Systern (1213M5), the

73, Which ore of these anfmals is jowloss ? : ; v
] content and the lTocation of the dala is defined l#

{A) Myxine By Sphyrna e,
{£) Trygun TN Shark {A)-sequencedata  (B) multidimensional data
T WA H 3 e =S AR B 7 Q) rictadata < D) subdata ) !
QY zery Frarlly faey (DEMS) ¥, BT %1 | 2fi j
(A) T ® T fifer feverS T S O £ 7 5
Q) T (L) ¥Mes (4 TTFHT TR (1) HEd ETTHIS =1
V4.  Thesubstrale of photorespiration is: (@ T ) 9 SwT :
tA] Calyeolate (BY Pyruvicacid 78 Rainbows are produced when suntight :
) Fructose 0 Clucose {4} Incident on rain Jdrops hanging in the
_ 47 atmosphere is dispersed after sullering :
HERIR} FEHT 1 STHER € « reflection |
(%) TEHRE (B TrEEEE ST (B} Incident an rain drops hanging in the i
i atmosphere is dispersed after sutfering ! £
(©) FRE (D) TR refraction ’ &
{C) Incident on rain drops hanging in the :
75.  Ecosystum consisis of : atmosphere is dispersed after suffering
(4} A population and ils nen-living element refraction and internal retlection !
(5) A biotic comemunity {1y None of the above statetnents is correct | )
(€] A biotic community and its non-living clements TR o A EREEREARTIE
@) Popufation (A) TEFEA # [ Tl gel o R & e B
Tifcfeerfaeht a1 fHaa et T g 2 R A AR

B wEE=e T awi-dd WO § amed i

(A IR SR 35 Y e o o
R0 B il &

i R () STTHEA E mai-sal W R 3 A #i A
{1 TR ST aHe e o < TS B T S A
0 ST {) TEI?J?R‘T T wmid o A HE R R

GJ-2015/ Pagell
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9. The ditference in the vaiue of visible euporls and
visible imports is caliad
{4y Dalance of Tlems
i D] Bularnce of Trads
() Balance of Accouul
[J:‘) Balance of Pavments

gﬂl frate 21k gea smam % ue F A9 S =0 wwd
#

1;_&} EER (B} =ITHIM

(G} T IS I STTAA W

80,  Kaeutidva's “Acibasastra” mainiy deals with:
(A} snciz] aspects {131 ecanomic doctrings
(L) military a.spu.tb L9 political state crart

whifae o ' ST W WeE R Al R 7

(8) TS e, (B et

() W Tey (DL A AR
81. "r’\; ]h? ol ;hc tollowing becurne a member of the ‘Din-

1 cl Il 4

{AY Todarmal (B} Tanscn
£} Raja Bivhal iwy l{a;a Mlan Singh

TrfeiEa B B W ET-g-geng S Haa ue
{A) EE] B 9T
Cy A A () T AR

§2.  Thu Indian constitutiom provides the coundry with
three categories of Civil Services, namely -
{A) All India, Cendral and State Services
(M Admintstrative, Police and Fallway Scrvices
(0} Administrative, Police and Fareign Services
(L) Adminstrative, Police and Revenne Services

g Wiae o Talerer dratedt =7 FiF-wt di= Smoei
il HTeraTT feper T & 7
Ay HIERT P, g TE T G

@ e, gie AR e
(€) FEmylEs, e Hw e e
(T3 wemsf Fl?ﬁ, | ST T Heng

83. ¥hich of Lhe lollowing comes dnder the jurisdiction
af both the High Coarts and the Sovrerne Courl ?
{A} 1Mspute bebween shates inlerse
{By Protection of Fundarnenta] Rights
{3 Protectinn against lhe Violation of the

Constitution

{13} Trspntes behween Cenlre and the States
Trefeiad § |/ 90 T =T 971 w0 =R
T ] STl W STHTA T & 7
(A} Tl % =T T T
(B ol B aRar
(Cy T % TowleH & T9EE W
(D) R T F ST (e

84, Aflatoxinsare produced by :

Al Fungi (B Bactoria
é(_,'_j Viruses (Dj Algae
TR T TR w0

(&) o By S
(Cy Teramy R

Ca]-2015/ Pagel?

HTTP://SSCHELP.IN | http://Gksea.com

Pl
LR

=

be.

B7.

B8.

39.

(G343 W TR b T e w qErm ¥

ABFRE (LAN) STTET (WAKN) T T St

A person cali e fughsr on the momm's surface

than oo the earlih heravse -

(a) The moon's surface i3 rough

(B} Thumooan f1as Llimuz,phere

{0 fhe accelerarion due 1o gravity in mooe is
amnaller than thot un the sarth

() Moaon s confer than earih

A ";'[?rﬂh = A I Ld*ﬂ T WEET F CEAT WL

AT S 7 S0 Waal B 7

(A) W BT WA e B ¥

(By =51 1 Wi RAT el T3] Tidr |

Hy B R
() == el T a7 e wn

The soft silvery metallic element which ionizes
casily when heated or exposed to Light and is present
I alomic clocks iy :

A califarninn (M) resium

C} calcium D) cemem
ﬂTEEf@’W%W’_r_cﬁW"H EER R RCoE ﬁ T

1_31 RN BT E=) W‘-i:-_d_,i 15T S, Hg t;: ;

(A) FaEfHea (B} Hif7m
() i (D Hifiag

What is the speciality of Windowes-NT ?
() Supports buli-processing

() Supporls LAN and WAN

() Supports Talch Processing,

) Supports F‘eal-tl*ne I'rocessing
FRE-NT w1 a4 GdlsT 2 2

Ay HeEl it W g g O

() AT GrETEN WU o 6
D) e 2isA DA a7 i Fedt T

Which one of the following is net a feature of
Indillerence ctuves ?

(A) They are parvallel to each other

45y T'he\r slopa downwirds to the right

(€3 Fhey donolinersecl each ather

m) They ave concave Lo ezch olher

FEAfATET & 8 P omiame mw Ty 37
(A A W oA F WA AR T

(B) A TE AL HH T

G0 ST U EET S TR SR T e

) Erwcqﬁr AT T

The areen coloar seon in firewoerk displays is duedo
the chdoride sall of
(A} Caloum

(('} C.KJLHUTI'!

(B) Bariwm
T3 Slromtinm

AT aeTERET =l adf {r Smeey rI~:"I|"#.g c“d'-:l H W=
famgd 2y %2
(A) v B A=

(GEEHESE! (1% wfar




&0,

.

93

94.

Biodiversity s also knownas

(A} Beiween habitat diversity

By Beosystorn diversity e

{Cy Clobal diversity

(I wWithin habitat diversity

A TEase R By v § s s arE § 2
(&) AT LI TATE o A

{15 arififaT o Taraym

) oo fofays

R I E s (PRI ER 6 i ey

“Wall Street” ks the nome of Lhe

(4) Stock exchango of Wewyork

{B) Indian township in Washinglon
() Super mwrket in Viambai

L% Steck exchunge of Kolkata

aim i T AT R

(A} TR T R TR

(B enfemes § {fea oafim

() Trms § YR HEE

(1Y) FIHAETE H =ZF TFEE S

Thie MNatonal Police Akadomy is located at

{A) Hyderabad (B AbuRoad

{Cy Debradun (3 Rangaluru

TS YieTH S e T E 7

(A) FeTER (13 a1 dE

) = D) Fege

In mountainous areas a nat wal cause for road blocks
is often:

A} fraffic congestion
(B} voad repairs and construction
(3 land slides
(D) tree felling,
WA &S H HEh] & AEEG T S WiSae
(A) T w5 vt
(B) TE® HLAT & frofor
(o T '
(D) Y&l =1 ST
Which of the following couniry has the lemngest
overtind tutmel ?
(A} Cermany {B) Trance
{0 Spain (I Swilzerland
et § 9 9y 90 & o o e gin & 7
(A] WAt B WO
() E ) Peesms

GJ-2015/Pagel’

95,

26, -

08,

99,

100.

Cormapetition for tond, light and space is mosl severe
m:
(A distundly related species growing i the same
Liabitats : '
(1 distantly related species growing in differcot
habiials
Q) c¢lasely related species growing inthe same area
or in the same niche
{10} closely relared specics growing in different
. habilats . R . .
ST, WA AR 790 @l Tl w7 T Wel At
it 7
(A) T E i e I arell gt we e vt
(B) M= Ty aT B = g waltha wente
() TF AT Y WA § Ya1 w0 Wt fwe defag
Tt
Dy H T e d At e et wikEi
Who was the INawab of Bengal during “Baille of
Plassey” ?
(&) Siraj-ud-duala B MirJafay
{0) MirQasim _ M) MNoneof these
TATHT & % o BRT SIS R TAE S 77
e @) A
(Cy I i (D) 39 | =1 T
One ol the regions that receives vainfall from the
north-easterly momsoon is:
(A) Kerala {81 West Bungal
(€, TamilNadu (D} Assam .
wed g AEgA R e e Bt g 7
(A} iH @) i e
() ey L) ST

The mercitry and sodium street lamps light up
hacause of :
{4) Electronabsorption
{B)  Atomicabsorption
(O} Atomic emission
g.}l)_fﬂlectmn BTission
] 37T TRETT TR S s o Gt 5 87

(A TEEZ sTEwiET (B} TIHTT Sl
(©) T (D) 71T T

The {irst Sultan of Delhi to issue regular currency
and declare Delhi as the capitul of his empire was :
(v} Dalban {B) Ttutmish

(@ Cutbuddin Adbak D) Alam Shah
AT e S = A AR Teeel A qme
1 T F T S et vy gean €

e1?

{f) WA (B) TR
(O FETR TAH (D) 7% e

I'he andy AICC session Gandhiji presided was held
at:

(Al Helgaum {B) {aleulta

() Madras (L Lahore

MHiEl T AE T OUENE | s 0 W ahEmm
= A o T e

(4) SFM (D) e ) TEM (D) oER
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